A 15-009 TABLE RAISING MECHANISM
| hAA DELTA FOR 15” DRILL PRESSES

A Pentair Company

DP-17A

Part No 402-04-651-0001

Dated 9-9-94

INSTALLATION

The 15-009 Table Raising Mechanism is shipped com-
pletely assembled and can easily be installed on the
column of the drill press, as shown in Fig. 1, after the
drlll press base has been removed. The top of the head
raising sleeve (A) Fig. 1, shoulid be positioned directly
underneath the table bracket (B) and the complete
mechanism should be locked on the column by tighten-

ing the nut of the other end of the bolt (C).

To raise or lower the table, loosen the table lock nut (D)
Fig. 1, and turn the crank (E) clockwise to raise or
counterclockwise to lower the table. Then tighten table
lock nut (D). IMPORTANT: ALWAYS LOOSEN TABLE
LOCK NUT BEFORE RAISING OR LOWERING

DRESCRIPTION

RAISING MECHANISM, CONST OF:
HEAD RAISING SLEEVE

#10 X 3/8" ROUND HD SCREW
3/16” X 1 1/4” SPRING PIN

HEAD RAISING SCREW
BRACKET COVER

5/16-18 X 1/2" ROUND HD SCREW
3/8" FLAT WASHER

GEAR-10 TEETH

FIBER WASHER

3/8" FLAT WASHER

5/16-18 X 1/2° ROUND HD SCREW
3/8-16 REX NUT

GEAR HOUSING BRACKET

3/8-16 X 2 1/4" HEX HD SCREW
CRANK HANDLE

6/32" X 1" SPRING PIN

HANDLE

PIN

PINION SHAFT

5/32" X 1" SPRING PIN

GEAR - 10 TEETH

TABLE.
iz REF
NO PART NUMBER
* 15-009
1 432-04-105-0001
2 901-06-450-8221
3 905-01-010-2708
4 432-04-112-0007
5 432-04-031-0002
6 901-02-010-0512
" 7 904-01-010-1605
8 432-04-051-0004
17 9 904-07-011-7752
10 904-01-010-1605
11 801-02-010-0512
12 902-01-040-1026
13 432-04-014-0002
14 901-01-060-0604
15 432-04-060-0001
16 805-01-010-2732
g 17 1086395
@3{\“) 18 422-04-071-5002
\ 19 432-04-106-0003
\a 20 20 905-01-010-2732
21 424-02-051-0008
*HOLE FOR ROLL PIN
ORILLED AT ASSEMBLY *  NOT SHOWN ASSEMBLED
STANDARD SAFETY EQUIPMENT ‘
in order to promote tool safety, Delta International Machinery Corp. strictly enforces the policy of repairing or replacing any damaged
— or missing standard safety equipment on machines presented to Delta Authorized Service Center for service/repairs. Any product

which is presented to a Delta Authorized Service Center for repairs which contains missing or damaged standard safety equipment

will have that equipment repaired or replaced and the customer will be charged for any such service/repairs. Customers can avoid
such charges only if the missing safety component is supplied to the service center at the time of repair.

This parts list is provided to aid in obtaining service parts. Copies of the instruction and maintenance literature can be obtained through the Delta
Technical Publications Department or through your local service outlet,

Page 1/DP-17A/CAJ

Printed in U.S.A.




